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&M Sjema] : 3.00 wemfl Cryw ] : [ Qwrés m@ﬂ(&gafm&aﬁ : 75
Time Allowed : 3.00 Hours ] [ Maximum Marks : 75

Sidleyenrset : (1) Simarsg dlamssEnd slurs FaL ufeurd) o eTETHT EreILISem e
‘ sflurisgé Qsreaerdp. <satiudeld Gapuimudern SODE
savsrasiiviurerfiLib | gmgwirs Gpfledlésea, .

2) Beod Sd@g SHEHLUY @wUl@man erpHUSHELD 2113.5CE g HeusnHGWD

Lweru(RSS CeuamBLb. LILRSET aUenyeusDE Quenfléd UUJG&TU@g'é_B@.lLb\.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@Oy : @eedlamgsrer BrenE LUGHsmans Cara g

Note : This question paper contains four parts.

u@S) - 1/ PART -1

GOy : ()  Sewensg famsse@rs@h efloweilésay. 1x12=12
(i) Qer@&sslul@erer mren@ wrHm elesafler Wsab FHy®LW
e Waars CsipQshsH GAUE_GLa allenulmaryn Gergsgl
6T(LPSEYLD.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four altemauves and write
the option code and the corresponding answer.
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UDDCEML AfFemsuler LweTL@D sHNwss BCerGLmiL

(=1) CrgCGuir <Guimg.er (=) CryCwr smirues

(8) CrgCur Csrurar () GruCwr flése
isotope is used for the treatment of cancer.

(@) Radio Iodine (b) Radio Carbon

(c) Radio Cobalt (d) Radio Nickel

@ Qeandler Sien —4D erafe, <igen @elwg dsrerae, :

(1) 4 18 (<) —40 18 (@) -0.25 18 () =25 18
If the Power of a lens is —4D, then its Focal length is :

(@ 4m () —40m () -025m (d -25m
Tr&Qs. greygeded 648l(&s6T) LweTLHSSILHEDG.

(=) Bl afler epeamprd @uss 9

(=) fwlLaflen Qumrg FritiQwed o

(&) CpraGam(® 2 bg wrpré Car_urp

(™) (@) wppid (@)

To project the rockets, which of the following principle(s) is/ (are) required ?
(@) Newton’s third law of motion

(b) Newton’s Law of gravitation ~~

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

eramugl UL (H peuisser L.

(1) g b (<) Stwail i

(8) ereslgren BT Lb (FF) eredlpren seurgemenin
is a relative periodic property.

(a) Atomic radius (b) Ionic radius

(c) Electron affinity (d) Electronegativity

erfl Emymub eremug @ B seayad. Gdaidrar ersganmedlan F56igib ;

(<1) 95.5% (<=4)75.5% (@) 55.5% (rF) 45.5%
Rectified spirit is an aqueous solution which contains about of ethanol
(@) 95.5% (b) 75.5% (c) b55.5% (d) 45.5%
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seogliurafled sr&sLLBL sorurmaie ojameay

BB

(<=1) 50 &) (<) 100 & (@) 40 & (F) 200 &
Solubility is the amount of solute dissolved in of solvent.

(@) 50g (b) 100 g (c) 40g (d) 200g
RswsdHen Qswid eTan JapsELLHF

(<=1) SA s (<) AV sgm)

(@) urfleng) @evpsar

is called as ‘Heart of heart’.

(@) SA node
() Purkinje fibres
LH -g &ruug) :

(1) @fened &rind

(@) Qlw L Auler qer szt
LH is secreted by :

(a)
(c)

Adrenal gland
Anterior pituitary

(rF) ablev SHODEHET

AV node
Bundle of His

(b)
(d)

(<) engrmii® syond
() ledapCumrgemoev

(b)
(d)

Thyroid gland
Hypothalamus

solbeawrssn wpnw Csiey Qeisd ppowrs e maurssiurL g CrmisE

erdiriys semens Qupp ablbdfl eramug

(=) WleTsmu
(&) smwoy

@)én FELTGLW.
(=) wesTEFGFTETD
(rr) Camgienio

Himgiri developed by hybridisation and selection for disease resistance against rust pathogens

is a variety of :
(@) Chilli

(c) Sugarcane

(=1) edflwllés sl (mnaﬂ&me’m'_)
(8) (=) wHmib ()

Metastasis is associated with :

(a)
(c)

Malignant tumour
Both (a) and (b)
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(b)
(d) Wheat

Maize

o Len QsrryeamLwg,.

(<p) Ssspp &l
() wELS swee Gomu

(b)
(d)

Benign tumour

Crown gall tumour
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LB ssmas sLAUUBSSHD Wb :

(=1) pEeTd (<) iy

(@) epeer () emapliGurgemoe
Vomiting centre is located in :

(@) Medulla oblongata (b) Stomach

(c) Cerebrum (d) Hypothalamus

UEILYESSEE S DHmE epeld :

(1) Qui_Crredlwith (=) &1

(D) Sendsm <bpe (F) orfisar
A renewable source of energy is : 4
(a) Petroleum Coal

()  Nuclear Fuel | (d) Drees

LGS - 11/ PART - II

@nlLy : srsmsuGu_lgmLo I (P afﬂecnrrasa;@&;@ cilenLwefl&sa|b. e eream 22 -5

Note :

13.

14.

SL_Lmuwns eden_wiefl&EseLb. 7x2=14

Answer any seven questions. Question No. 22 is Compulsory.

Grienwler HmUsSSmen — cuenrmEse,L.

Define moment of a couple.

@allGaars wHmib GYteds — CaupubEs!s.

Differentiate - Convex lens and Concave lens.

15.

16.

umde efdeniis snms.
State Boyle’s law.:

Ceutiufleneverws 2 wWiisHLEAUT(E e lamauiar Cousid HaNsfng. gear 2

Why does the reaction rate of a reaction increase on raising the temperature ?
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#flwur ? gaupr ? (seum erefed sambenen Hm&515)

()  SO; CO, NO, Guremp eurwiésdr sappgerer wewkflear pH whiiy 7 - el
GPDAUNE Q&G LD.

(i) OBS EUTLESET 2 emansg)b TG PLPLSEFAMISET <}, GLD.

True or False. (If false give the correct statement)

(i) The pH of rain water containing dissolved gases like SO,, CO,, NO, will be less than 7.
(i) Noble gases are Diatomic.

@afl§Caiidans eremmmed ereme ? Qs Qadaller ermi@ B Qupdng ?
What is photosynthesis and where in a cell does it occur ?

Gv&lgrés (Scratch) eremmmed crema ?
What is Scratch ?

R&5TEl HlETHSET GTEIMTE eTevan ?
What are Okazaki fragments ?

< SalGevmbler LLID eueThgl LNshsmens Ghléase,n.
Draw and Label the structure of oxysomes.

30 GeumedL_ L&Ghemqggg,-(gmgjurr(a Camert g sLgHullen paansEnés BaLGu
2 wlwir leGearm_ L tsodlpg erafled, wigen WeaismLmwus sramrs.

Calculate the resistance of a conductor through which a current of 2 A passes, when the
potential difference between its ends is 30 V.

L@ - 111/ PART - III

@Y : eTemeuCuemd 61 eleTEsErs@ el welsseyh. eferr eramr 32 -5

SLLmwwns afenWeflégEe L. 7x4=28

Note : Answer any seven questions. Question No. 32 is Compulsory.

23.

24.

@aflulflen gCagid Bren@ LTSS domis.
List any four properties of light.

Qumg FrOGwe efdlufer LweTUT igenars Sms.

Give the applications of universal law of gravitation.
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() Lrleni efeperey HL QLD WiQWITS QTHTH GHLOSDETE Sal)s.
(i) edlerrder <y HM eTMTE eTEaT ?
(i) Mention the two cases in which there will be no Doppler effect in sound.

(i) What is stellar energy ?

peSen SgnsQsramsdan Cam UTRaemar eT(9s)s.
Write down the salient features of “Modern Atomic Theory”.

() 1.0x10~* Gurerr Qedejdrer HNO, sargaden pH wdliens gan1&d (HE.

i) BCrhw 2ty — euerrwmEseyL.
(i) Calculate the pH of 1.0x10~4 molar solution of HNO,.
(i) Define Hydrated salt.

BrrefliGurs @ eremmmed erevenm ? ﬁuna@(ﬁuw&;éﬂs&r W&HwsguGHS T (PSS

What is transpiration ? Write the importance of transpiration.

surdelenasafien surpeilwe elenereysemer 6r(LPsIs.
Write the physiological effects of Gibberellins.

() DNA eflyé Crenss Qsmflem Lusdler peoLapenm LLSTUTHS®ETE Samis.
(M) <fsAurLALNsen @eariiy o WAwNs er smsILEADE ?
(i) State the applications of DNA fingerprinting technique.

(i) Why is Archaeopteryx considered to be a connecting link ?

alLry @ar greugeilile eraTugman amILNSE g6 (pEELSHSMS CT(ESs.

Define Ethnobotany and write its importance.

() Cuwrosafer cramafismasmwus samLdls : 27 § igiblafuib
i) CO, -eflem &ymd pasamm Hanamus Srars.

i)  Calculate the number of moles in 27 g of AL

(i) Calculate the gram molecular mass of CO,.
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U@l - IV / PART - IV

&Y Sieensg damsas@EpsEn ol wassean. Comauwrear @Liisald LD
SUEDTWIGYLD.

3x7=21
Note : Answer all the questions. Draw diagrams wherever necessary.
33. (@) () el cNevsds erair GTEMMTED Gresan ?
(i) Sl tiurreney OO grruuriene Gapurhaamer Ceupu®Esis.
36060
() () sLsSWGen WemgenL erar wHmb Wer &GS GG < fweupe

Caupudsgs.
(i) LED eflersdlen pereniseneris Lt iqwied(s.
(i) eMamssHD 2 erar efam@eouafl el ereueur WSS ?
(@) (i) What is refractive index ? |j
(i)  Differentiate the eye defects Myopia and Hypermetropia.
OR

(b) (i) Distinguish between the resistivity and conductivity of a conductor.
(ii) List the merits of LED bulb.

(i) How does an astronaut float in a space shuttle ?

34. (=) () sy sTHBHS ergenmed ereveurn surfssiuGdpg ?
(i) srsd eUMTLMESHELD.
SVVF)

(=) () Gemiy wpmid gL FGgaT oL Caupnu®éss.

(i) Goudld sbleney ETEDIE) GTENEN ? G LIGTLISET WiTenE ?
(@ (i) How is ethanol manufactured from sugarcane ?

(i) Define the term solution.

OR

(b) (i) Differentiate - soaps and detergents.

(i) What is chemical equilibrium ? What are its characteristics ?
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(=) () ysEb sreurmsaild BaLGUmD LT @amiQumEsSE e ﬂﬂigpm.a;emm
T(pEIS.
i) so Hapalear umssmaTs smms.
(i) pHspelan pareivsdr LHmb Sowsmards GHUKOS.
360605
(<) () wvewemrilLlbGn&aTenr sryanilsear wrenel ?
() elorg@seio sorlear efflugder sfamereyset wreal ?
(i) GOHSsEUsHa6 umssmend GHNULKYHS.
(@) (i) Write the events involved in the sexual reproduction of flowering plants.
(i) Discuss the first event and write the types. ‘

(i) , Mention the advantages and disadvantages of that event.

0
(b) (i) What are the agents of soil erosjon ?
(i) What are the effects of hybrid vigour in animals ?
g L

(iii) Name the types of stem cells.
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